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Note :—  Answers may be written either in English or in Hindi;
but the same medium should be used throughout

the paper.
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Attempt any Five questions.
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Discuss the essential characteristics of a valid Bill of

Exchange.

Are the following Negotiable Instruments 7 Discuss the
nature of the Instruments, supporting your answer with

reasens

'

() Radha writes Geeta “Please pay Mecnu or order

Rs. 10.000 sixty days after sight.”

iy “I promise (o pay X's son Rs. 2,000 for value

received.” (X has three sons)
(i) “I promise to pay the bearer the sum of Rs. 5.000."

(iv) 1 promise to pay A, Rs, 5,000 on B's death
provided he leaves me sufficient money to pay

the said amount.” 20
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Critically analyse the existing definition of the term ‘Holder
under the Negotiable Instruments Act, 1881 and suggest and
improvement if possible. 20
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Define ‘Holder in due course’ under the Negotiable

Instruments Act, 1881 and also state the difference

between Indian and English law referting to statutory

provisions and case law.

What are the rights and privileges enjoyed by Holder

i

in due course 7 20
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Discuss the law relating to crossed cheques with special

reference to the liability of the collecting banker in respect

thereof with the help of decided cases. 20
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What are the essentials required to constitute dishonour

of cheque an offence ?

“Law relating to Dishonour of cheques has been made
more siringent and the procedure to be followed by
the courts has been simplified to enable speedy disposal
of cases.” Analyse in the light of amendments made

to Negotiable Instruments Act, 1881. 0
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“The Insured Owes a duty to disclose every material fact.
of which he knows or ought to know before the contract

of Insurance 1s made.”

What would be the effect if this duty is not carried ow ?
Explain the nature and scope of this duty with the help of
leading precedents. | 20
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X insured his ;hou|sehold goods against theft, Tt was spec?'ﬁcal'ly
mentioned in the insurance policy, that “Insurance Company
would be liable for theft, provided the house is always

¢
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occupied.” One day X had to go with his entire family to
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attend a wedding at 7 p.m. On return from there at 11 p.m.,
X found that valuables worth Rs. 50,000 had been stolen. X
claims the loss under the policy from the insurer. Decide, stating
the principles regarding interpretation of an Insurance Policy

with reference to decided cases, if any. 20
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Write short notes on any two of the following : 20
(/)  Difference between Negotiation and Assignment:

(i Material Alteration;

(iify Liability of a drawee of a cheque;

() Endorsement in full and Endorsement in hlaﬁk.
e & ¥ B @ W Rt fefen

() TCHEEU TN EERIE W IR

Gy e gfEdT)

(i) 9% H G W TE;

v T IR @ NE T

8 1,400



